Z\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR XXXX 8-0 OPQ & GLZ Impact\C - Drawings\TX-5281.dwg

006}?:&;\111112 o R
S raiai iy 88, B
5wy 1 5io O ol 6B 8F
i o H*‘:’%Ewﬂ“ 3 vt £ s N E'-'-
115" MAX. OVERALL FRAME WIDTH . i ioig 2 - SEO  _a
5200 W. CENTURY BLVD. 5O, Phizic o 58 Loa 27
| 3725'MAX. __,  375'MAX. __ Q. i0% §F gzrg 22
LOS ANGELES, CA 90045 FRAME WIDTH ||~ FRAME WIDTH U srm 12 s -9 {E
M xini e < 88" 23
Ly 2 o x2 L
/ / ® z B o %%
! # 8 255 24
_ 2 RBoz gk
‘:E 6 0 § mE
O i 5 E
e w E bo
OPAQUE FIBERGLASS DOORS ; P R 8
% 8 << 6 8
< =z rz [a]
SINGLES 2 iz o 0 i
2 2 23 -
w/ or w/o SIDELITES 8- 5° 55
(@) in x L
P = S “F
INSWING / OUTSWING = E =R | z&
/ Vi Qu |, EX
"IMPACT" 2 555
92 |5 d
S
2 19 2x
1.5" — I ——15" & 2 £
2 L
EVALUATED FOR USE IN THE STATE OF TEXAS § 'g = &
The Fiberglass Door system described herein complies with the 2018 International - -
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building Code >
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:
1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or stucco.
2. This system has been tested and evaluated as a large missile impact protective
system for installation in areas that require wind borne debris protection. This 2]
product meets missile level "D" as defined in ASTM E 1996. %
3. Allowable design pressure requirements must be equal to or less than the design >
pressure rating shown in the design pressure chart, sheet 1 of this drawing. o
4. Conditions not covered by this drawing are subject to further engineering analysis.
TABLE OF CONTENTS
SHEET # | DESCRIPTION
] Typical Elevations, Design Pressures & General Notes L
2 Door Panel Detals | EEaaaamamamil g ESIGN =
3 Sidelite Panel Details B _
4 |Elevations : POSITIV GATIV GATIV =
5 Horizontal Cross Sections " " -
6 Horizontal & Vertical Cross Sections A 35 e N/A +60.0 -65.0 -60.0 DATE: : 8/18/22
7 Vertical Cross Sections 74.75" x 98.0" N/A +40.0 -45.0 -40.0 ScAE  N.T.S.
: OX/XO DWe. B::  LFS
8 Frame Ancho:nlg 76.25" x 98.0" 2Xx +45.0 -50.0 -45.0 o
8 Hardware Details - - CHK. BY:
9 Componen’rs OXO 112.0" x 98.0 N/A +40.0 '45.0 '40.0 DRAWING NO.:
10 Bill of Materials & Components 115.0" x 98.0" 2X +45.0 -50.0 -45.0 TX-5281

SHEET _1 oF 10

© 2022 R.W. BUILDING CONSULTANTS INC.



- DR XXXX 8-0 OPQ & GLZ Impact\C - Drawings\TX-5281.dwg

Z:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI

— |=—04" 3.7
<—>‘> " EXTERIOR A= =
oS X &
\ INTERIOR \
CAP (PVC) STILE {vLy —— LATCH STILE (LVL) CAP (PVC)

35.75" MAX. PANEL
WIDTH

N

D

S

N

~—5.5"

54.19"

95.25" MAX. PANEL HEIGHT

S

@ PLASTPRO DOOR PANEL

FIBERGLASS SKIN: 0.075" MIN. THK.
FOAM CORE: POLYURETHANE

]

/"1 "\ HORIZONTAL CROSS SECTION

\2/

SEE DOOR LOCK
HARDWARE TABLE

KNOB: SERIES (400)
KWIKSET | peaDBOLT:  SERIES (860)

KNOB:  SIGNATURE SERIES
KWIKSET | DEADBOLT: ~ SIGNATURE SERIES (980)

KNOB: F-SERIES (F51)
SCHIAGE | heApBOLT: ~B-SERIES (B60)

TOPRAIL — Tk
(COMP)  [Fcies
FOAMCORE — [
/4
INTERIOR EXTERIOR
/
¥/
DOOR SKIN —|
* ]
BOTTOM RAIL—[ %
(COMP.) NS

/"2 VERTICAL CROSS SECTION

\2/

S

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

S )
98 =
=Q <
own - by
En |3 Q9
o |al K
= o
0no |15 Lél
I |lo =
om 2 oo

o
= 14
§ o
S kE
a 5
>
m
)
=z
o
2]
o
=
<
a
o
p=d
DATE: 8/18/22
SCALE:  N.T.S.
DWG. BY: LFS
CHK. BY: RW
DRAWING NO.:
TX—5281

SHEET _2 oF 10

© 2022 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR XXXX 8-0 OPQ & GLZ Impact\C - Drawings\TX-5281.dwg

——  |=—0.4" 3.7
. EXTERIOR 04" —— |=—
B ———r—] || 2 T
R s X ESS R
) = INTERIOR \
cAp(pvc)  STHEE(VL SRR LATCHSTIE (Lvi)  CAP (PVC)
/"1 HORIZONTAL CROSS SECTION
3/
35.75" MAX. PANEL ___
WIDTH
. 2LI3'MAX.
D.L.O. WIDTH
q
‘ S— u—
A ODL LITE FRAME e 5/8" GLASS BITE
Va
} % 1"O.A. GLASS THK.
: INTERIOR
[: 1/8" TEMPERED GLASS
. 710 . ARSPACE
& (3 < " SC /8" ANNEALED GLASS
¥ o U 0.090" SAFLEX PVB INTERLAYER
2 5 1/8" ANNEALED GLASS
Z 5
£ o O *
X % EXTERIOR * STEEL SPACER (INTERCEPT)
< <<
§ i #7-19X2'PPHSMS  DOW 995
5 B * NON-STRUCTURAL BACKBEDDING
/ \\ "
i #7-19 X 2" PPH SMS { 750
| 7 , (22 PLCS.) : “’1
0.]" _»Ii i ]_
\ i - Y = =A
#8 X 3' FH WS @ EACH CORNER _L

’<—1

D 4

THROUGH STILE INTO RAIL (4 TOTAL )
@PLAST PRO SIDELITE PANEL

ODL ALUMINUM LITE FRAME DETAIL
"Flat Frame" Profile

FIBERGLASS SKIN: 0.075" MIN. THK.
FOAM CORE: POLYURETHANE

TOPRALL — [

(COMP.)

FOAM CORE — ||

INTERIOR

\

FIBERGLASS SKN—1|

BOTIOM RAIL—["|

(COMP.)

/ 2\ VERTICAL CROSS SECTION

3/

~ '\":‘.\\_11 ui
SN il §1 -0
: s o
.:7%.4‘;(32‘}:. &3 -g "
Gy et 8N, £
AT T T2 o BB
s T ol £ o L
Py 0™ s . ) £
g hyioid gl gm 9F
gt ivig o, ~do
GO% = N~ be g%
00Oy I i i0 5 2.5 T
? W ) Z 9 ZZz
W O v |Bd T o9 66
YA, : : cr FTmn =22
R LY 2 dgo bE
&~ )p/&"%..j PR\ a>w ﬂ&
. Uy xpint © Zow Lh
L I R omn® o7
AN S ow: EQ
o x2 ¥
° z 0 5w
L %o 95
o 9 .
& 502 4
o moo §<
mO
: =
c
() 14
5 @ %3
(4]
[+
[a}
o
8 2
own . =
xov b S
o< |3 =
5 S| 2w
nod &
SE (9 %
Om 2 o
W
EXTERIOR 3 o
—_— S o
Q =
2 g
o o
>_
[44)
)
=z
o
]
@
: =
- S
o
d
DATE: 8/18/22
SCALE:  N.T.S.
DWG. BY: LFS
CHK. BY: RW
DRAWING NO.:
T™X—5281

SHEET _3 oF 10

© 2022 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINSNGOJ aNIaiing ‘M'sd 2202 @

ZS8LL—4 # NOILVHLISIOFN 40 3LVOLILMIO o SNOISIATY VA ToN
SHIINIONI IVNOISSIH0¥d 40 Quvod SvxXalL SNOLLVATTI N slolz = m_
L616°659°CL8 "ON @uoyd : N = o
S6SEE 14 OdUIPA 0£Z Xod ‘O'd \S‘g -AIEWASEY HO 1dvd - _M - P :2u S
"ONI ‘SINVLINSNOD ONIaTINg N L )F v_A 4_
d400a SSY1943did o |&|&|g ~
SZLYOL# I'd Swxal ONI 0¥d1SY1d gl m g|g|3 &
‘I'd IPIWYDS ‘4 UOpUAT :Ag peipdesq sjuswnooq :12NA0¥d 518 Z151% 5
mw
b
////, Y @
.
m_wa
I_I ™|~
ePo
=z
—_
~0 <|x
m/@ :
-l LD Ll
|/ a mw
>
////,/
™~
/ D @
mw
D '
4 /M P
/M,
@ . © ™ = QW
X
|/ @) nvw
= <>
oo m(Q
o)
m@ v > ">
mw
mw
PO O
z
o
T
<| >
@ x i &
m
A
(o}
VH T — x> @

BMp 182X 1\sbuimelq - J\edw| Z19 12 DO 0-8 XXXX dd - IGL\IAL - §\LNINVIANYId 2u] ‘0idise|d\siusl|D\Z



Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

AV VTN

813.659.9197

INTERIOR

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595

Documents Prepared By:

Phone No.:

NOTE:
1. Spacing for item L: é" from each end and 5 more
equally spaced along sidelite jamb (7 total).

A\
/4

21177171717

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

v
»

Naw
oG

SEENOTE 1
@ EXTERIOR ” -
[S]e] =
=8 IR
{1\ HORIZONTAL CROSS SECTION {2\ HORIZONTAL CROSS SECTION 90 |51 28
WOufswin shown (Inswing similar) Womswin shown (Inswing similar) ) 2l R»
Back-to-Back Jambs Back-to-Back Jambs 'Gé S| B
e | 8
I
5l = |y
sl g
& &
Jolo :
, S 4
S =
G [ ~ [ o (%) :
[ ] INTERIOR e [ b5 o
~ ; - —
s . \5 Z e o L
@ .‘ g
SEE NOTE 1 @ @ @\@ @ S
12
@ EXTERIOR SEENOTE T DATE: 8,/18,/22
@ ScAE:  N.T.S.
(3 alolrteh 1505 S.E?’)ON / 4"\ HORIZONTAL CROSS SECTION owe ;. LFS
N8 o B ke eamen " K& Quswing shown nswing s o o RW
TX—5281

SHEET _5 oF 10

Z:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR XXXX 8-0 OPQ & GLZ Impact\C - Drawings\TX-5281.dwg

© 2022 R.W. BUILDING CONSULTANTS INC.



NOTES: Sy, i
1. Spacing for item L: " from each end plus S ribt 4% o
5 more equally spaced along sidelite ﬁ»’;’@ =5 Ei 0 ﬁ §
DRYWALL 0.15" CSINK DRYWALL jamb (7 total). iR e Sy o8 2T
- 0O 25y 2. Spacing foritem L @ head &sill: 6" from [N i 2 2 N Gl
ﬁ (TYP.) ends (2 total). 3’&{%‘:&; ‘: -1
— . . —_— (}O. 1zt gg go"! <
gl P f e \ I A N R oW, i0 ek Z23 09
2 3 i A = Lure g . {1\/,. :Q: _l>.. Jg© nE
IE pe Q5. 128 R QE
B % IZ‘;&‘):‘"E)- : Zom §
= P it & 8%, g8
s 7 s : ox2 K
- . ] @ 7 C 3 » . -g g Cg (] o %
1Y INTERIOR - T 8 =258 Bu
. B 6 12 B
i ' - & Moo S8
i I | \\® 2 § m E
r 1 o c =
. .’ ,'. 3 e o
/t N i .
¥ -
<<
ETERISR EXT. SHEATHING _ S
= oS EZ
EXT. SHEATHING 12 EXT. SHEATHING DRYWALL 2 =2
1 [ o $9
n | P
@ ’ I )
. m
¢ i Gé e Eg))
/" 1"\ HORIZONTAL CROSS SECTION /"2 HORIZONTAL CROSS SECTION . C g |a
W Outswing shown (Inswing similar) W Outswing shown (Inswing similar) = Lt (<] NS
—T——T—— —tg— 5 & g S
G , >
g |F
>.
m
~ ‘\@
DRYWALL o
SEE NOTE 1 . IFE / AR \ 1 5y EXTERIOR INTERIOR Z
AR | j /DRYWALL %
INTERIOR = 1 __-@ / 4\ VERTICAL CROSS SECTION =
= . Eot : 1 E w Outswing shown (Inswing similar)
/K : =
(o)
,'-'-','”".".".".' d
S S S— — =z
EXTERIOR SEE NOTE 2 DATE: 8,/18,/22
@ EXTERIOR L
EXTERIOR INTERIOR .
EXT. SHEATHING \{ pwe. Bv. LFS
CHK. BY: RwW
(3" HORIZONTAL CROSS SECTION (5" VERTICAL CROSS SECTION DRAWING o:
w Outswing shown (Inswing similar) w Outswing shown (Inswing similar) TX—5281
SHEET _6 oF 10

Z\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR XXXX 8-0 OPQ & GLZ Impact\C - Drawings\TX-5281.dwg

© 2022 R.W. BUILDING CONSULTANTS INC.




Z:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR XXXX 8-0 OPQ & GLZ Impact\C - Drawings\TX-5281.dwg

\\

INTERIOR

7%

EXTERIOR

20 ) 26

TS

P ) wOOD
D ) CONCRETE

/"1 "\ VERTICAL CROSS SECTION

w Inswing Sill

\\

INTERIOR

SEENOTE 1

\

A

EXTERIOR

i 3==)

MMM AN Y

WM

=
o)
O
O

/” 4"\ VERTICAL CROSS SECTION

\U Inswing Sill

y/i
INTERIOR \x EXTERIOR
D Be g 2 -
P ) wooD
D ) CONCRETE

/ 2"\ VERTICAL CROSS SECTION

w Outswing Sill

\\

INTERIOR

SEENOTE 1

~N

EXTERIOR

=

h

/"5 "\ VERTICAL

P ) WOOD
D ) CONCRETE

CROSS SECTION

\\7/ Outswing Sill

NOTE:

WOOD/CONCRETE
SUBSTRATE (TYP.)

\_\\\’:\\\\:\\1 :-]: R
. . . 20 ol b
1. Spacing for item L @ head & sill: 6" from SR Tint SF )
~° RO 2o o
each end (2 total). :'\f’ 1= Eo e b
[Fa%s ATl £+ B 20
Cws 0 “u Jd13  8F
£ 10} we E o &
Pui T 0 FE2 Lw
b Ot . §3 Boo 2
3 . H > N 0 M
DA, 0% e gt 90
(X753 inE S 2 33¢ &5
Ol S, L2 e O >0 W
PN e S Zob &b
lzl*w‘:._l iy 3 3R. zo
Vo™ o xS
o 298%2 u
o Zm,y, Ob
o q ., 59
¢ 502 gp
& mon §<
) § ml%
t 0niE
o 14
SN
9
8 .
\\
xx %2}
&) wn
38 Sn
oo | O3
6 CE& Al 2=
&S o SO
24 uo [ =6
oF (g9 &
Ol | S
| I
S S
’—
>_
m
P ) WOOD
D ) CONCRETE
/3 \ VERTICAL CROSS SECTION ' 2
\UADASIII %
@
(4
=
<
()
o
=z
DATE: 8/18/22
SCALE:  N.T.S.
DWG. BY: LFS
CHK. BY: Rw
DRAWING NO.:
TX-5281

SHEET _7 oF 10

© 2022 R.W. BUILDING CONSULTANTS INC.




_ Z:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR XXXX 8-0 OPQ & GLZ Impact\C - Drawings\TX-5281.dwg

6“

(TYP) |

-

et —

—

HEAD & JAMBS
(TYP.)

SILL (TYP.)
ADA SILLONLY | —

6"

(TYP.)

b

X

NOTE: FRAME CORNERS ATTACHED w/
(3) #10 X 2-1/2" FH WOOD SCREWS (TYP.)

145'O.C.
MAX. (TYP.)

3'(TYP.)
4" (TYP.)

4 (1YP) ——

6"

*/)U—

HEAD & JAMBS
(TYP.)

(rve) ]
|

—

11

— —

BACK-TO-BACK
JAMBS

w/ REINF.
(TYP.)

SILL (TYP.)

XO/0X

FRAME ANCHORING

* NOTE: THESE ANCHORS ARE REQUIRED FOR DESIGN PRESSURE > 40 PSF ONLY

A ui
At \};‘1{1 ° 3
.'5'. * u‘:o":"-;g %g &N
~ IS T, o 10 L 10
EASSRES e* B e
2w 1019 ou om 2
o L2 L N
TR twiy v FES a
oL PR §% £g2 2
c:.\p'-. i0 e <23 o0
(XS A > 2Jg59 0k
O 2 ;30 fig
.ku.§>' % oo S0
PR~ b MRN8 S B
4" (TYP.) . 3 28 ol N
<
(TYP.) . § B
/) LAt ! Ll l\ l ‘g @ 2k
- 28
* * g -
- o
~o —
HEAD & JAMBS =
(TYP.) BACK-TO-BACK
i (O]
. JAMBS oS e
w/ REINF. - s §
(TYP.) 28 |5 S
B - - . SE | Y
om |0 <
g & o B
» - - a g &
8 e
- 0 CONCRETE i 5
o -
8 = L - o woob  _ | 3= >
2% SILL (TYP.) Ty o5
N \\ L (L LT L™ 1—
(7))
T 2
~ 72}
0 > a
OXO = fe
L
<
()
o
=z
DATE: 8/18/22
SCALE:  N.T.S.
DWG. BY: LFS
CHK. BY: RW
DRAWING NO.:
TX-5281
SHEET _8 oF 10

© 2022 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINSNDOJ gNigling

‘MY 22028 O

zs8ll— SNOISIAFY
mmuwz_wz..w ﬁ<nw“wmmwwmwmum_oow¢%%_mwww_, SUVLEa F4YMAEVH Ad 31vd [ON| 0l O_
—— NI ol|T
seses m_w.._rmomm_mu\m ﬁnuo&o% c.n%u \§ ‘ATEWISSY ¥0 Ldvd W M = - s
*ONI ‘SINVLINSNOD ONIaTINg g. s . g | 9_
¥00a SSY1943gI4 o 1&5[E]le &
€ZLYOL#F *I'd SvxaL ONI 04d1SY1d i M sl e|E i
‘3'd ‘IPIWUYDS 4 uopuAk :Ag peupdesd sjuswnooq :19Na0Yd 2 g W 5 W z
) *......
N-~mb§.-ow...ohn.
:ﬂaﬂﬁﬂﬂ.f?/)?&( w o N
(O Zz=
ZZ T
HAa &
v
(-]
\ :
X ~~ ] =
—es e e = O
gWVT 40 dO1 <
WO¥H . 1€6 L ("dAL) o T
*0'0.821°9¢
2
| > <
&
= 2
(V)
[ T 11 m
@\\ elef
(8wvr 40 4oL o) - cc a
9068 AMA
I (@=-E=B) " ...J..
T — >
o
oS o= \ &
H B,
O5z o
SQLE
wa o
@ 3 > & A
< o —
. 5 <
= w [
[C) LLy
| I | m D
@\\ﬁ ”.N M
% =
Q
<
=
3
<
m
Q
>
5
Ol > 2
& & <
< < =
: ] =15 8
| [\ H=N |
_||'- a ‘ |, _hmq._ m - —1 -~ - = m M
Imnyming T I
3 2 ! g o)
- | 3 ) & 2
S o= . m 9 < M
' w
u Q
= ¥ o
S m =
o
b

Bmp’L.825-XL\sBuimelq - D\pedwi Z19 18 DJO 0-8 XXXX ¥a - IAL\IAL - S\LNINVIAYId du] ‘0idise|d\siual|D\Z



Z:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR XXXX 8-0 OPQ & GLZ Impact\C - Drawings\TX-5281.dwg

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL
A 2X FRAMING (G >=0.42) WOOD
C 1/4" MAX. SHIM SPACE -
D 1/4" @ PFH ELCO OR ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
G 3/16" @ PFH ITW CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL
J #10 X 2" PFH WOOD SCREW STEEL
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL
P #10 PFH WOOD SCREW (1-1/2" MIN. EMB.) STEEL
1 POLY FIBER JAMB COMP
) 2X REINFORCEMENT (G >= 0.55) WOOQOD
6 DOOR SWEEP PVC
7 WEATHERSTRIP FOAM
9 #9 X 3/4" PFH WOOD SCREW STEEL
11 4" X 4" HINGE STEEL
12 LATCH STRIKE PLATE STEEL
13 DEADBOLT STRIKE PLATE STEEL
14 10-32 X 3/8" PFH MACHINE SCREW STEEL
15 #12 X 2-1/2" PFH WOOD SCREW STEEL
16 #8 X 2-1/2" PFH WOOD SCREW STEEL
20 INSWING THRESHOLD ALUM/COMP
21 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
22 OUTSWING THRESHOLD ALUM/COMP
23 OUTSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
24 ADA THRESHOLD ALUM
25 OUTSWING THRESHOLD ALUM/WOOD
26 INSWING THRESHOLD ALUM/WOQOD
27 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/WOQOD
40 DOOR PANEL -
50 SIDELITE PANEL -
CONCRETE ANCHOR NOTES:

. Concrete anchor locations at the corners may be adjusted to maintain the min.

edge distance to mortar joints.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to

. Concrete anchor table:

—

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

TTW BUILDEX

TAPCON ® 2" 4"
DeWALT ,, ,,
ULTRACON% 1 4

WOOD SCREW INSTALLATION NOTES:

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws to prevent the splitting of wood.

1.25"

! 244" !

@ POLY FIBER JAMB

’-1.4"+

4.56" !
20 INSWING THRESHOLD

Endura (Z-Series)

T

! 4.56"

22 OUTSWING THRESHOLD
Endura (Z-Series)

P
&
1.25"

25 OUTSWING THRESHOLD

DLP
8 4.57" ‘
C I
U=

INSWING THRESHOLD
26 DLP

0.75"

i g Qi
SxTiad S
: %.....'.: _2_ E»ou,.- %7 g & o
FANSEES ES & HB
5 2e5 3 £ 0 .
Zw; O o s =
o~ o aul Q9w gy
‘;u.i :'LL.: w® TN bk
ﬁo.'. ::z: c "’.h"g ;t'*
9w 101 55 £33 3z
O ] cF g<in 20
b, 104 > LH3ge ok
QY e Z e 535 0g
Qpx xix 205 Lb
11 b o nm o=
IRRRCERLS & On- XO
i) 952 ,°
|—~—2.]"——- o Za, Oy
o =
T SIDELITE g 508 gF—J
ADAPTER [ RARk 5«
2 § o
: § e
o~ E )
3 Sg S
[o]
a

4.56" !

21 INSWING THRESHOLD w/ SIDELITE ADAPTER
Endura (Z-Series)

SIDELITE
ADAPTER

.

4.56"

23 OUTSWING THRESHOLD w/ SIDELITE ADAPTER
Endura (Z-Series)

M

83"

o

4.56"

1

.5n

. ADA THRESHOLD T
DLP

212" “
F

! 4.57" 7!

27 INSWING THRESHOLD w/ SIDELITE ADAPTER

DLP

o8 | 9u
=Q <k
=0 mz
Y]
20 s =3
B |3 =2
ZICH =
7]
e o
x| @
§ o
S e
& X
>—
m
%)
z
o
n
o
=
<
a
o
=z
DATE: 8/18/22
scAle:  N.T.S.
DWG. BY: LFS
CHK. BY: RW
DRAWING NO.:
TX—5281

SHEET 10 oF 10

© 2022 R.W. BUILDING CONSULTANTS INC.



